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Iterative Singular Value Threshold ing

initialize : ^X = Zeros ( n , p )

In = Xr ← fill in obs
. entries

set threshold or r
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if converged , stop
end



Deconvolution
have signal of interest WERP
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define XERMP s .t . y
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More general formulation :
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X = VAV
"

( VH means
" Hermitian "

transpose V
't

= ( V )*
when X circnlanti VHV =] )

then

. diagonal etts of A = Fourier transform coeffs of h

. V is Fourier transform matrix

Fourier transform : represent signals as

Weighted sums of sinusoids
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Fourier trends form of h
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( write h as weighted sum of sinusoids )



These sinusoids correspond to the columns of V !
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y=×w= .
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ligen decomposition of X = VAV
't

.

diagetts of A = Xk 's
.

Consider LS est of W : Signal processing
iv. (XHX ) "×Hy perspective :
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. VHY = DFT

y
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. Y= dft ( y )

2. scale DFT caeffs 2 . H= dft ( h ) , ✓ = Y ./H
, by dividing by DFT

coeffof h

3
. inverse DFT 3
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Consider Ridge Regression I
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Multivariate normal 1 Gaussian distribution
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10=2 ,
[ arbitrary positive definite matrix
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